Chapter 15

The Global Marketplace

Multiple-Choice 

1. A _____ is one that, by operating in more than one nation, gains marketing, production, R&D, and financial advantages that are not available to purely domestic competitors.

a.
national firm

b. domestic firm

c. regional firm

d. global firm

Answer: (d) Difficulty: (2) Page: 519

2. The _____ sees the world as one market. It minimizes the importance of national boundaries and develops “supranational” brands.

a.
global firm

b. domestic firm

c. regional firm

d. national

Answer: (a) Difficulty: (2) Page: 519

3. Ford trucks sold in North America have their chassis built in North America and assembled in Brazil. _____ gain advantages by planning, operating, and coordinating their activities on a worldwide basis.

a.
Regional firms

b. Domestic firms

c. U.S. firms

d. Global firms

Answer: (d) Difficulty: (2) Page: 519

4. The most common trade barrier is the _____, which is a tax levied by a foreign government against certain imported products.

a.
quota

b. tariff

c. license

d. exchange control

Answer: (b) Difficulty: (2) Page: 520

5. A(n) _____ is a ban on the import of a certain product.

a.
quota

b. tariff

c. exchange control

d. embargo  

Answer: (d) Difficulty: (2) Page: 520

6. _____ are government limits on the amount of foreign exchange with other countries and on the exchange rate against other currencies.

a.
Quotas

b. Exchange controls

c. Embargos

d. Nontariff trade barriers

Answer: (b) Difficulty: (2) Page: 520

7. The _____ enforces GATT rules.

a.
EU

b. Common Market

c. NAFTA

d. WTO

Answer: (d) Difficulty: (2) Page: 520

8. The _____ deals with worldwide trade in banking, securities, insurance and services.

a.
GATT

b. WTO

c. GATS

d. EU

Answer: (c) Difficulty: (2) Page: 520

9. The _____ is a 56-year old treaty designed to promote world trade by reducing tariffs and other international trade barriers.

a.
GATS

b. GATT

c. WTO

d. EU

Answer: (b) Difficulty: (2) Page: 520

10. According to the text, a new round of GATT negotiations began in _____ in late 2001 and is expected to conclude in January 2005.

a.
Uruguay

b. San Francisco

c. Doha, Qatar

d. Bombay, India

Answer: (c) Difficulty: (2) Page: 520

11. All of the following statements are accurate descriptions of the EU, except which one?

a.
Today, the EU has 15 member nations that belong together.

b. The EU was formed in 1957 and was then called the Common Market.

c. The EU accounts for 20 percent of the word’s exports.

d. There is no free movement of labor and capital across member nations within the EU.

Answer: (d) Difficulty: (2) Page: 521

12. Prior to the formation of NAFTA, there was CUSFTA until 1989. The two members were_____.

a.
Mexico and Canada

b.
Mexico and USA
c.
USA and Canada

e. Japan and USA

Answer: (c) Difficulty: (2) Page: 521

13. _____ is a free trade agreement between the USA, Canada, and Mexico.

a.
NAFTA

b. CUSFTA

c. The EU

d. THE WTO

Answer: (a) Difficulty: (2) Page: 521

14. _____ became the 12th member nation in the EU to accept the Euro.

a.
Norway

b. Sweden

c. Denmark

d. Greece

Answer: (d) Difficulty: (3) Page: 521

15. In a subsistence economy, the vast majority of people engage in _____.

a.
manufacturing

b. investments

c. technology

d. agriculture

Answer: (d) Difficulty: (2) Page: 522

16. _____ create a new rich class and a small but growing middle class, both demanding new types of imported goods.

a.
Subsistence economies

b. Industrial economies

c. Raw material exporting economies

d. Industrializing economies typically

Answer: (d) Difficulty: (2) Page: 522

17. _____ is a free trade area linking Argentina, Brazil, Paraguay, Uruguay, and associate members Bolivia and Chile.

a.
NAFTA

b. EU

c. ASEAN

d. MERCOSUR

Answer: (d) Difficulty: (2) Page: 522

18. _____ is international trade involving the direct or indirect exchange of goods for other goods instead of cash. 

a.
Countertrade

b. Globalization

c. Barter

d. Regionalization

Answer: (a) Difficulty: (2) Page: 524

19. _____ is international trade involving the direct exchange of goods for other goods instead of cash.

a.
Countertrade

b. Globalization

c. Barter

d. Compensation

Answer: (c) Difficulty: (2) Page: 524

20. _____ is a form of countertrade, in which the seller receives full payment in cash but agrees to spend a portion of the money in the other country within a stated time period.

a.
Counterpurchase

b. Buyback

c. Barter

d. Compensation

Answer: (a) Difficulty: (2) Page: 524

21. When Pepsi sells its cola syrup in Russia for rubles and agrees to buy Russian-made Stolichnaya vodka for sale in the United States, Pepsi is said to be engaging in international trade called _____.

a.
buybacks

b. bartering

c. counterpurchases

d. tit-for-tat

Answer: (c) Difficulty: (2) Page: 524

22. Folkways, norms, taboos, and values are all elements of the _____.

a.
political environment

b. cultural environment

c. legal environment

d. economic environment

Answer: (b) Difficulty: (1) Page: 524

23. A country’s industry structure and its income distribution are two major _____ factors reflecting the country’s attractiveness as a market to enter.

a.
political-legal 

b. cultural 

c. economic

d. technological

Answer: (c) Difficulty: (2) Page: 522

24. In deciding whether to do business in a given country, attitudes toward international buying, government bureaucracy, political stability, and monetary regulations make up four major _____ factors.

a.
economic

b. cultural

c. technological

d. political-legal

Answer: (d) Difficulty: (2) Page: 523

25. All of the following are threats posed by the European unification to non-European firms, except which one?

a.
As a result of the unification, European companies will grow bigger and more competitive.

b. Inside Europe, the barriers will be raised, thus creating thinner outside walls for non-member nations.

c. Stiffer rules will be imposed on outsiders or non-members, such as non-tariff barriers.

d. Some observers believe European unification is just the beginning of the creation of a “Fortress Europe.”

Answer: (b) Difficulty: (3) Page: 521

26. All of the following statements are accurate descriptions of differences between the NAFTA and EU, except which one?

a.
Both NAFTA and EU are free trade zones.

b.
Unlike NAFTA, the EU has adopted a common currency.
c.
Unlike NAFTA, the EU has more member countries.

d.
Both NAFTA and EU allow free movement of labor and capital across member nations.

Answer: (d) Difficulty: (3) Page: 521

27. In _____, business executives dutifully study each other’s cards during a greeting, carefully noting company affiliation and rank.

a.
India

b. Japan

c. Korea

d. the USA

Answer: (b) Difficulty: (2) Page: 525

28. Fast and tough bargaining, which works well in some parts of the world, is often inappropriate in _____.

a.
the USA

b. Canada

c. Germany

d. Japan and other Asian countries

Answer: (d) Difficulty: (2) Page: 525

29. Showing someone the sole of your shoe is offensive in _____.

a.
Saudi Arabia

b. the USA

c. Canada

d. Germany

Answer: (a) Difficulty: (3) Pages: 525-526

30. All of the following are accurate reasons which draw a company into the international arena, except which one?

a.
Companies pursue international markets for higher profit opportunities.

b. To combat saturation of domestic markets, firms go overseas.

c. Companies go overseas to enlarge their customer database in order to achieve economies of scale.

d. Companies do not want to reduce their dependence on any one market so as to reduce risks.

Answer: (d) Difficulty: (3) Page: 526

31. The simplest way to enter a foreign market is through _____.

a.
licensing

b. franchising

c. exporting

d. joint ventures

Answer: (c) Difficulty: (2) Page: 530

32. When entering a foreign market with the least risk, companies typically start with _____.

a.
direct exporting

b. indirect exporting

c. licensing

d. franchising

Answer: (b) Difficulty: (2) Page: 530

33. Companies can conduct _____ by setting up a domestic export department that carries out export activities.

a.
direct exporting

b. indirect exporting

c. licensing

d. franchising

Answer: (a) Difficulty: (2) Page: 531

34. All of the following are modes of entry into foreign markets, except which one?

a.
exporting

b. licensing

c. joint ownership

d. exchange control

Answer: (d) Difficulty: (2) Page: 530

35. Once a company has decided to venture into international markets, it must next determine _____.

a.
which markets to enter.

b. the best mode of foreign market entry.

c. the global marketing program.

d. the political stability of the country.

Answer: (a) Difficulty: (3) Page: 529

36. Colgate’s decision to pursue China as a possible international market is based on _____.

a.
China’s entry into the WTO

b. the market size of China

c. the low rate of brushing in China

d. all of the above

Answer: (d) Difficulty: (2) Page: 530

37. _____ is entering foreign markets by joining with foreign companies to produce or market products or services. 

a.
Direct exporting

b. Direct investment

c. Joint venturing

d. Indirect exporting

Answer: (c) Difficulty: (2) Page: 531

38. Online brokerage E*TRADE has set up E*TRADE-branded Web sites under _____ agreements in Canada, Australia/New Zealand, and France.

a.
franchising

b. exporting

c. management contracting

d. licensing

Answer: (d) Difficulty: (2) Page: 532

39. When Hilton Hotels exports management services around the world, they are involved in _____.

a.
licensing

b. franchising

c. management contracting

d. contract manufacturing

Answer: (c) Difficulty: (2) Page: 532

40. _____ is a joint venture in which a company contracts with manufacturers in a foreign market to produce the product or provide its service.

a.
Management contracting

b. Contract manufacturing

c. Joint ownership

d. Licensing

Answer: (b) Difficulty: (2) Page: 532

41. _____ is a simple way for a manufacturer to enter international marketing. The company enters into an agreement in the foreign market in return for a fee or royalty. The manufacturing company gains entry into the market at little risk.  

a.
Contract manufacturing

b. Management contracting

c. Licensing

d. Joint ownership

Answer: (c) Difficulty: (2) Page: 532

42. KFC entered Japan through a _____ venture with Japanese conglomerate Mitsubishi. While Mitsubishi, one of Japan’s largest poultry producers, understood the Japanese culture and had money to invest, KFC brought the southern hospitality, old American tradition, and authentic home cooking to the venture.

a.
licensing

b. direct investment

c. contract manufacturing

d. joint ownership

Answer: (d) Difficulty: (2) Page: 533

43. _____ has certain drawbacks. The partners may disagree over investment, marketing, or other policies. Whereas many U.S. firms like to reinvest earnings for growth, local firms often prefer to take out these earnings; whereas U.S. firms emphasize the role of marketing, local investors may rely on selling.

a.
Licensing

b. Direct Investment

c. Contract manufacturing

d. Joint ownership

Answer: (d) Difficulty: (2) Page: 533

44. _____ involves entering a foreign market by developing foreign-based assembly or manufacturing facilities.

a.
Joint ownership

b. Contract manufacturing

c. Management contracting

d. Direct Investment

Answer: (d) Difficulty: (2) Page: 533

45. Global companies that use a(an) _____ sell largely the same products and use the same marketing approaches worldwide. 

a.
adapted marketing mix

b. standardized marketing mix

c. flexible standardized marketing mix

d. foreign export firm

Answer: (b) Difficulty: (2) Page: 534

46. Global companies that use a(an) _____ adjust the marketing mix elements to each target market, bearing more costs but hoping for a larger market share and return.

a.
standardized marketing mix

b. adapted marketing mix

c. flexible standardized marketing mix

d. differentiated product mix

Answer: (b) Difficulty: (2) Page: 534

47. In India, McDonald’s serves chicken, fish, vegetable burgers, and the Maharaja Mac-two all-mutton patties; the last has a special sauce, lettuce, cheese, pickles, onions, on a sesame-seed bun. McDonald’s uses a(an) _____ strategy in India.

a.
standardized marketing mix

b. adapted marketing mix

c. flexible standardized-product mix

d. differentiated product mix

Answer: (b) Difficulty: (2) Page: 534

48. Firms using a(an) _____ strategy standardize certain core marketing elements and localize others. 

a. global

b. international

c. multinational

d. glocal

Answer: (d) Difficulty: (2) Page: 535

49. _____ means marketing a product in a foreign market without any change.

a.
Product adaptation

b. Straight product extension

c. Product invention

d. Communication adaptation

Answer: (b) Difficulty: (2) Page: 535

50. _____ involves no additional product development costs, manufacturing changes, or new promotion. But it can be costly in the long run if products fail to satisfy foreign consumers.

a.
Product adaptation

b. Straight product extension

c. Product invention

d. Communication adaptation

Answer: (b) Difficulty: (3) Page: 535

51. Nokia customized its 6100 series phone for every major market. Developers built in rudimentary voice recognition software for Asia and raised the volume for use in crowded Asian streets. Nokia is using a _____ strategy.

a.
straight product extension

b. product invention

c. product adaptation

d. communication adaptation

Answer: (c) Difficulty: (2) Page: 535

52.
_____ consists of creating new products or services for foreign markets.


a.
Product adaptation

b. Straight extension

c. Communication adaptation

d. Product invention

Answer: (d) Difficulty: (2) Page: 535

53. _____ is a global communication strategy of fully adapting advertising messages to local markets.

a.
Communication adaptation

b. Straight extension

c. Product adaptation

d. Dual adaptation

Answer: (a) Difficulty: (2) Page: 539

54. Coca-Cola sells its low-calorie beverage as Diet Coke in North America, the U.K., and the Middle and Far East, but as Coke Light elsewhere. Coca-Cola is positioning the soft drink as a way to feel good about yourself in North America, and the “desire positioning” strategy is used in other parts of the world, exuding a sexy confidence. Coca-Cola is using a _____ strategy.

a.
straight extension

b. product adaptation

c. product invention

d. communication adaptation

Answer: (d) Difficulty: (2) Page: 539

55. Magazines as media are a major medium in Italy and a minor one in Austria. Newspapers are national in the U.K. but are only local in Spain. Global marketers following a communication adaptation strategy need to take _____ into consideration as it varies from country to country.

a.
media expenditure levels

b. media availability

c. media exposure

d. product adaptation

Answer: (b) Difficulty: (2) Page: 539

56. _____ occurs when a company either charges its subsidiaries less than it costs or less than it charges in its home market.

a.
Price escalation

b. Price gouging

c. Dumping

d. A price war

Answer: (c) Difficulty: (2) Page: 539

57. Harley-Davidson accused Honda and Kawasaki of _____ motorcycles on the U.S. market when they charged less than in their home markets.

a.
price gouging

b. dumping

c. product adaptation of

d. straight extension of

Answer: (b) Difficulty: (2) Page: 540

58. _____ is the common currency of the European Union.

a.
The North American dollar

b. The French Franc

c. The German Mark

d. The Euro

Answer: (d) Difficulty: (1) Page: 521

59. All of the following are accurate descriptions of the benefits of European unification, except which one?

a.
Adoption of the euro will decrease much of the currency risk associated with doing business in Europe.

b. Removing currency conversion hurdles will help member nations to increase cross-border trade.

c. Cross-border trade will increase as marketers will highlight differences in pricing and marketing from country to country.

d. From a marketing point of view, creating a common currency will create a homogeneous market.

Answer: (d) Difficulty: (2) Page: 521

60. _____ is the largest trading partner of the United States.

a.
Mexico

b. Japan

c. Canada

d. U.K.

Answer: (c) Difficulty: (3) Page: 522

61. America’s second largest trading partner today is _____.

a.
Japan

b. Mexico

c. Canada

d. U.K.

Answer: (b) Difficulty: (2) Page: 522

62. _____ is a free-trade zone expected to include 34 countries, stretching from the Bering Strait to Cape Horn, with a population of 800 million, a combined GDP of more than $13 trillion, and more than $3.4 trillion in annual world trade.

a.
NAFTA

b. EU

c. MERCOSUR


d. Free Trade Area of the Americas (FTAA)

Answer: (d) Difficulty: (2) Page: 522

63. According to the text, _____ means “wind and water,” a practice widely followed in Asia.

a.
keiretsu

b. namaste

c. feng shui

d. samurai

Answer: (c) Difficulty: (3) Page: 535

64. To have good _____, a building should face the water and be flanked by mountains in Asia.

a.
samurai

b. feng shui

c. keiretsu

d. ISO 9000 certification

Answer: (b) Difficulty: (2) Page: 535

65. According to the text, in _____, the transition to the euro is reducing the amount of price differentiation across member nations.

a.
NAFTA

b. the EU

c. MERCOSUR

d. EFTA

Answer: (b) Difficulty: (1) Page: 541

66. All of the following are accurate descriptions of the effect of the Internet on pricing in international marketing, except which one?

a.
The Internet makes global price differences more obvious.

b. When firms sell their wares over the Internet, customers can see how much products sell for in different countries.

c. Companies will be forced toward more localized international pricing.

d. Customers will be able to order a given product directly from the company location or dealer offering the lowest price.

Answer: (c) Difficulty: (3) Page: 541

67. _____ involves designing international channels that take into account all the necessary links in distributing the seller’s products to final buyers, including the seller’s headquarters organization, channels among nations, and channels within nations.

a.
JIT distribution

b. JIT manufacturing

c. Whole-channel view

d. Whole-concept concept for international marketing

Answer: (c) Difficulty: (2) Page: 541

68. International divisions within companies can be organized as _____, with country managers who are responsible for salespeople, sales branches, distributors, and licensees in their respective countries.

a.
world product groups

b. international subsidiaries

c. global organizations

d. geographical organizations

Answer: (d) Difficulty: (2) Page: 543

69. The shortage of funds available for international trade is best described by the term _____.

a.
tariffs

b. import licenses

c. exchange controls

d. countertrade

Answer: (c) Difficulty: (3) Page: 520

70. Countries, such as India and China, are limited by foreign exchange funds, best known as _____. Hence, they are unable to import luxury goods from developed nations.

a.
tariffs

b. import licenses

c. countertrade

d. exchange controls

Answer: (d) Difficulty: (2) Page: 520

71. Under President Clinton’s government, the United States officially lifted the ban on the import of certain products from Vietnam; this ban is also called _____.

a.
a quota

b. an embargo

c. exchange controls

d. nontariff trade barriers

Answer: (b) Difficulty: (3) Page: 520

72. A(n) _____ is the strongest form of a quota.

a.
exchange control

b. embargo

c. import license

d. tariff

Answer: (b) Difficulty: (2) Page: 520

73. When the Japanese claim their skins are different, requiring foreign cosmetic companies to test their products in Japan before selling them, they are imposing _____.

a.
exchange controls

b. embargos

c. import licenses

d. nontariff trade barriers

Answer: (d) Difficulty: (3) Page: 520

74. A major computer software firm Comp Association in Long Island, N.Y. is planning to sell its products and services in several nations throughout the world, viewing the market segments as having a lot in common with each other. When Comp Association develops a standardized marketing mix for entire sets of country markets, it operates as a(an) _____.

a.
international firm

b. global firm

c. regional firm

d. domestic firm

Answer: (b) Difficulty: (2) Page: 519

75. Before deciding which foreign markets to enter, the ABC Corporation of N.Y. should try to _____.

a.
define its objectives

b. define its policies

c. decide what volume of foreign sales it wants

d. all of the above 

Answer: (d) Difficulty: (3) Page: 529

76. All of the following are examples of joint ventures, except which one?

a.
direct exporting

b. licensing

c. contract manufacturing

d. management contracting

Answer: (a) Difficulty: (2) Page: 531

77. A company can conduct _____, setting up a domestic export department that carries out export activities, or setting up an overseas sales branch that handles sales, distribution, and perhaps promotion. Finally, the company can do its own exporting through foreign-based distributors.

a.
indirect exporting

b. direct exporting

c. global operations

d. domestic operations

Answer: (b) Difficulty: (2) Page: 531

78. _____ differs from exporting in that the company joins with a host country partner to sell or market abroad.

a.
Direct investment

b. Joint venturing

c. A wholly-owned subsidiary

d. An export union

Answer: (b) Difficulty: (2) Page: 531

79. Under ____ the domestic firm exports management services rather than products.

a.
contract manufacturing

b. management contracting

c. licensing

d. joint ownership

Answer: (b) Difficulty: (2) Page: 532

80. All of the following are benefits of a standardized marketing strategy, except which one?

a.
Companies employing a standardized marketing strategy enjoy greater economies of scale.

b. Standardization helps keep costs down.

c. Companies using a standardized strategy enjoy a well-coordinated and uniform image.

d. Marketers using a standardized strategy offer consumers what they want in each country.

Answer: (d) Difficulty: (2) Page: 534

81. All of the following are disadvantages of direct investment, except which one?

a.
A company may face the risk of restricted currencies.

b. A company may face the risk of falling markets or government changes.

c. A firm may face the risk of devalued currencies.

d. A firm may have lower costs in the form of cheaper labor or raw materials.

Answer: (d) Difficulty: (1) Page: 534

82. Companies seeking a balance between standardization and adaptation _____.

a.
“think locally and act locally”

b. “think globally and act globally”

c. “think globally but act locally”

d. are the exception rather than the rule

Answer: (c) Difficulty: (2) Page: 534

83. When McDonald’s sells beer in Germany, Maharaja Mac in India, wine in France, and mango milk shakes in the Philippines, they are said to be adopting a _____.

a.
standardized marketing strategy

b. localized marketing strategy

c. regional strategy

d. domestic strategy

Answer: (b) Difficulty: (3) Page: 534

84. All of the following are accurate descriptions of channels of distribution within China, except which one?

a.
China has a large number of state-controlled wholesalers and retailers.

b. Distributors in China carry competitors’ products.

c. Chinese distributors are eager to share basic sales and marketing information with their suppliers.

d. Hustling for sales is an alien concept to Chinese distributors.

Answer: (c) Difficulty: (2) Page: 541

85. The first link between the seller and final buyer, while designing international channels, includes _____.

a.
the seller’s headquarters organization

b. channels among nations

c. channels within nations

d. understanding channel conflict

Answer: (a) Difficulty: (2) Page: 541

True/False 

86. The most common trade barrier is the exchange control, which is a tax levied by a foreign government against certain imported products.

Answer: (False) Difficulty: (2) Page: 519

87. The most common market agreement in Latin America is called the FTAA.

Answer: (False) Difficulty: (2) Page: 522

88. A ban on the import of a certain product is called a tariff.

Answer: (False) Difficulty: (2) Page: 520

89. Intellectual property rights cover patents, trademarks, and copyrights.

Answer: (True) Difficulty: (2) Page: 520

90. An embargo is the strongest form of quota.

Answer: (True) Difficulty: (2) Page: 520

91. The purpose of the quota is to conserve on foreign exchange and to protect local industry and employment.

Answer: (True) Difficulty: (2) Page: 520

92. An embargo is also called a boycott.

Answer: (True) Difficulty: (2) Page: 520

93. Companies seeking a balance between standardization and adaptation, “think globally, but act locally.”

Answer: (True) Difficulty: (2) Page: 534

94. The WTO was established to enforce GATT rules.

Answer: (True) Difficulty: (2) Page: 520

95. GATT stands for worldwide trade in banking, securities, and insurance services.

Answer: (False) Difficulty: (3) Page: 520 

96. The EU is a free-trade agreement among 15 member countries in Europe.

Answer: (False) Difficulty: (2) Page: 521

97. The EU represents the highest level of economic integration among 15 European member countries.

Answer: (True) Difficulty: (2) Page: 521

98. NAFTA is a free-trade zone established among the United States, Mexico, and Canada.

Answer: (True) Difficulty: (2) Page: 521

99. Over a 15-year period, NAFTA will eliminate all trade barriers and investment restrictions among Brazil, Chile and Argentina.

Answer: (False) Difficulty: (2) Page: 521

100. Greece became the 12th member nation in the EU to adopt the euro.

Answer: (True) Difficulty: (2) Page: 521

101. Currencies of some of the nations in the EU have not been completely erased yet.

Answer: (False) Difficulty: (2) Page: 521

102. NAFTA is preparing to add other countries in Latin America to form a larger free-trade zone called the FTAA.

Answer: (True) Difficulty: (3) Page: 522

103. Countries with subsistence economies may consist mostly of households with very low family incomes. 

Answer: (True) Difficulty: (2) Page: 522

104. International trade, involving the direct or indirect exchange of goods for other goods instead of cash, is called countertrade.

Answer: (True) Difficulty: (2) Page: 524

105. Most international trade involves counterpurchases.

Answer: (False) Difficulty: (2) Page: 524

106. Currency limits and changing exchange rates create high risks for sellers.

Answer: (True) Difficulty: (2) Page: 524

107.
Under contract manufacturing, the domestic firm exports management services rather than products.

Answer: (False) Difficulty: (2) Page: 532

108.
Direct investment differs from exporting in that the company joins with a host country partner to sell or market abroad.



Answer: (False) Difficulty: (2) Page: 531

109.
KFC entered Japan through a licensing venture with Japanese conglomerate Mitsubishi.


Answer: (False) Difficulty: (2) Page: 532

110.
PepsiCo markets internationally by entering into joint ownership with bottlers around the world and supplying them with the syrup needed to produce the product.


Answer: (False) Difficulty: (2) Page: 532

111.
Marketing a product in a foreign market without any change is called product adaptation.


Answer: (False) Difficulty: (2) Page: 535

112.
Adapting a product to meet local conditions or wants in foreign markets is called straight product extension.


Answer: (False) Difficulty: (2) Page: 535

113.
Creating new products or services for foreign markets is called product invention.


Answer: (True) Difficulty: (2) Page: 536

114.
Communication adaptation is a global communication strategy of fully adapting advertising messages to local markets.


Answer: (True) Difficulty: (2) Page: 539

115.
Dumping occurs when a company charges less than it costs or less than it charges the home markets.


Answer: (True) Difficulty: (2) Page: 540

Essay 

116.
Companies everywhere pursue international markets for a variety of reasons. List and discuss the major reasons why companies go abroad.


Answer:

1.
The advent of faster communication, transportation, and financial flows has made it easier for companies to do business with firms overseas.

2.
Domestic markets are saturated, hence firms look into expanding across borders and globally.

3.
Establishment of WTO and other agreements, such as GATT, make international trade easier. The treaties are designed to promote world trade by reducing tariffs and other international trade barriers. 

4.
The world is becoming a village of regional blocs. Regional zones, such as NAFTA, EU, ASEAN, MERCOSUR, among others, have transformed the way business is conducted today.

5.
The pursuit of increased market share and profits in international markets have motivated firms to continuously improve their products at home and expand into foreign markets.
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117.
List and discuss the major decisions a firm faces as it contemplates international marketing.


Answer:

1. 
Looking into the global marketing environment: An understanding of the international trade system (tariffs, quotas, WTO, GATT, etc.) and environments, including economic, political-legal, and cultural, is the first step companies take in international marketing. 

2.
Deciding whether to go international: Saturated domestic markets, better sales and profit opportunities abroad, customers moving overseas and requiring international servicing are some of the factors impinging upon a firm’s decision to enter overseas markets.

3.
Deciding which markets to enter: A company should define its international marketing objectives and policies before a decision is made to enter international markets. The company also needs to decide how many countries to enter. 

4.
Deciding how to enter the market: exporting, joint venturing (licensing, franchising, contract manufacturing, management contracting, joint ownership) and direct investment (assembly and manufacturing facilities).

5.
Deciding on the global marketing program: standardized marketing mix, adapted marketing mix, and flexible standardization (hybrid) are three major strategies.

6.
Deciding on the global marketing organization: export department, creation of an international division, and finally, creation of a global organization.
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118.
Define NAFTA and discuss the major implications for marketers in the Pan-American region.


Answer:


NAFTA stands for North American Free Trade Agreement.
NAFTA was ratified in 1994 among the United States, Canada, and Mexico. NAFTA is a free trade zone with a single market of 360 million people and $6.7 trillion worth of goods and services produced and consumed annually. The three member nations have agreed to lower tariffs and other barriers over a 15-year period. There are various benefits to member countries. Mexico has become a safe haven for lower manufacturing costs and has supplanted Japan as America’s second largest trading partner. Marketers in the Pan-Am region benefit from rules of origin (62.5 percent rule, meaning products with 62.5 percent of the total value of a product made in USA, Canada, or Mexico are exempt from tariffs), better access to member nation markets, increased trade with each other. Today, auto parts and automobiles cross borders with zero tariffs. 
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119.
Firms everywhere face trade restrictions in international marketing. List and discuss the characteristics of three major trade barriers, as described in the text.


Answer:


Tariff: A tax levied by a government against certain imported products. Tariffs are designed to raise revenue or to protect domestic firms.


Quota: A quantity limit on the amount of goods that an importing country will accept in certain product categories. It is designed to conserve on foreign exchange and to protect local industry and employment.


Exchange Control: Government. limits on the amount of foreign exchange with other countries and on the exchange rate against other countries.
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120.
According to the text, certain major forces exist to foster trade across countries. Explain.


Answer:

GATT: The General Agreement on Tariffs and Trade is a 56-year old treaty designed to promote world trade by reducing tariffs and other international trade barriers. Since its inception, member nations, currently 146, have met in eight rounds of negotiations to reassess trade barriers and set new rules of international trade.  The recent round, called the Doha round, began in 2001 and is expected to conclude in 2005. The Uruguay round established the World Trade Organization (WTO) to enforce GATT. WTO also oversees GATS (General Agreement on Trade in Services), dealing with worldwide trade in banking, securities, and insurance services. WTO also oversees intellectual property rights. 
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121.
Define regional free trade zones. List and explain the formation of the major economic blocs and their implications for marketers.


Answer:

Free trade zones are groups of nations organized to work toward common goals in the regulation of international trade. Two major blocs, NAFTA and the EU, will be highlighted here. The North American Free Trade Agreement established a free trade zone in 1994, with a 15-year horizon to remove trade barriers and investment restrictions, among the USA, Canada, and Mexico. A single market of 360 million people who produce and consume $6.7 trillion worth of goods and services has been created. The EU, also known the European Union, consists of 15 members today. Twelve members have declared the euro as the common currency, giving up their national currencies. Unification creates increased cross-border business opportunities for firms. There is an opportunity to add 10 new eastern and southern European members in 2004. Critics worry that a “fortress Europe,” heaping favors on firms from EU countries, will be created. Further, lower barriers inside Europe will create thicker outside walls. There is a view that the EU will never become a homogeneous market, due to differing cultural traditions and languages.
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122.
List and discuss the three major modes of foreign market entry.


Answer:

Exporting: Entering a foreign market by selling goods produced in the company’s home country, often with little modification. Indirect exporting entails working with independent international marketing intermediaries. Indirect exporting involves less investment because the firm does not require an overseas sales force or set of contacts. It involves less risk. Sellers next move into direct exporting where they handle their own exports. 

Joint Venturing: Licensing, contract manufacturing, management contracting, and joint ownership. Licensing entails offering to use a manufacturing process, trademark, patent, trade secret for a fee or royalty. Contract manufacturing involves contracting with a manufacturer in the foreign market to produce a product or provide services. Management contracting is a joint venture in that the domestic firm supplies the management know-how to a foreign company that supplies the capital. Joint ownership consists of one company joining forces with foreign investors to create a local business in which they share joint ownership and control.

Direct Investment: Assembly and manufacturing facilities are two ways for a company to enter a foreign market. The most risky of all entry modes, this method has numerous benefits. Companies enjoy lower costs in the form of cheaper labor or raw materials, foreign government incentives, and freight savings. 
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123.
The topic of standardization and localization has been debated over the years. First, define the terms. Next, give three benefits of each approach.


Answer:

Standardization: An international marketing strategy for using the same product, advertising, distribution channels, and other elements of the marketing mix in all the company’s international markets.

Benefits: Economies of scale, uniform image, coordinated efforts, and lower costs.

Localization: A strategy whereby the company adjusts the marketing-mix elements to each international target market. 

Benefits: Catering to the needs and wants of target markets, higher market share and returns, and being perceived as a local player are some benefits of localization.
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124.
According to the text, companies should “think globally, but act locally.” Explain.


Answer:

Thinking globally, but acting locally means that firms must seek a balance between standardization and adaptation. Called a “glocal” strategy, the firm standardizes certain core marketing elements and localizes others. The corporate level gives strategic direction, local units focus on the individual consumer differences across global markets. In essence, a glocal strategy has also been called “flexible standardization.”
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125.
Companies entering overseas markets need to take a careful look at the problem of distributing products to final consumers. According to the text, there are three major decisions companies need to make while designing international channels. Explain.


Answer:

International companies must design channels that take into account all the major links in distributing the seller’s products to final buyers, including the seller’s headquarters organization, channels among nations, and channels within nations. The first link, the seller’s headquarters organization, supervises the channels and is part of the channel itself. The second link, channels between nations, moves the products to the borders of the foreign nations. The third link, channels within nations, moves the products from their foreign entry point to final consumers. Differences in the numbers and type of intermediaries serving each foreign market and the size and character of retail units abroad are key challenges facing companies contemplating distribution internationally.
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Application

126.
Assume you are an international marketing consultant. A major multi-national conglomerate marketing/selling: high-tech goods, high-touch goods, bicycles, coffee, and greeting cards is looking to reassess its international marketing strategies. The company needs assistance in developing a global marketing program. Explain the strategies best suited to the different product categories.


Answer:

High-Tech/High-touch goods: A straight product extension strategy is appropriate here. IBM computer services, Microsoft Windows software are some examples of products/services requiring little or no change. High-Touch goods, such as watches, perfumes/colognes are products suited for the straight product extension strategy too. Revlon Corporation’s Charlie and Aramis by Aramis for Men, are two brands using this strategy.

Bicycles: Communication adaptation/don’t change product: Used by major manufacturers such as Schwinn to enter foreign markets. For countries such as China where bicycling is a major form of transportation, bike makers need to change the promotion to suit the mind-sets of consumers. Coffee: Change the product/don’t change communication-Nescafe coffee uses the strategy to adapt the product, gasoline makers (BP/Amoco) alter the product, but stress the product appeals uniformly throughout the world. Greeting cards: Hallmark sells cards in different parts of the world by stressing the dual adaptation strategy. Change the product and promotion to suit local tastes, holidays and other occasions.
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